INSTRUMENT PROCESSING SHEET

Agency I-—(\\Rbmmd« Caurdy S.0.
Datein_2[30( 14 “izl9

FIOLE

Alcohol Testing Program

S/N KO-t CELT

ship Qp/Uu OH/D Qcmi

Date Out

Performed By }avs

OEE

Performed

Intake Quality Checks Flow Calibration Performed By

U Registration Breath Tube Screen Flow Calibration N/A
<&~ Annual Replace O-Rings Flow Calibration Comple&EC
O Return from CM| Instrument Set Up Verified Flow Column # E/ E
O Return from Enforcement Ry R-Value 9 ¢f Q 5U/min-17mm Wy D
Electronics Flow Verification (L/s) Q 15L/min-53mm { 2 2] 1
O Other Flow Column # AP0 Q 30L/min - 517; FD 1/
Visual Inspection: , 32mm 0.14%  (139-.169) | O R-Value oy, 2Lk
U Case \/LHéndje 36mm _L;_!Lo__l;)___{ 156-.190) | O Post Calibration Verlfrcatlonfff.{p
Dry Gas Holder Feet 53mm _0.43Y (.228-.278) Flow Column # F"am
hr/_L Keyboard/Plug  CIC Back/Plugs 103mm 0 S0 (.447- .547) 32mm (.139 -.169)
Screws tight ()Z Breath Hose \El Barometric Pressure Check 36mm (.156 - .190)
Gauge ID#__ 084 | 53mm (.228 - .278)
Bikier Equipment: & stability Checks 103mm (.447 - 547)
O Power cord Simulator | Serial # Lot #/Exp
D Printer Cabl 0.05 . o |201L03D Maintenance Performed By
Other ‘5& = '—ga-q/ DR2035 3)%J1% O Battery Replacement
S 0.08 e ALl B O DryGas Regulator Replacement
SH3] L.}‘ "hslg O Breath Tube Replacement
Notes: 0.20 ! - |2Zoibodc || Q Other
SBILAS 772 | 1% | | Suggested Service
0.08 DGS N/A AGLZLG0Y
a2y
'Optical Bench Calibration Performed By _m_ Department Inspection Performed By @ ;
QO Optical Bench Calibration N/A @ Barometric Pressure 1021 Gauge
& Optical Bench Calibration Complete ID# _ Q%437 103 Instrument
Barometric Pressure Gauge [ DAD ID# WO 32
Simulator | Serial Number | Lot Number Expiration Mouth Alcohol Solution Lot # Al C
0.000 SDIO I N/A N/A Acetone Stock Solution Lot # ADI-A
0.040 ShIoQ 4 e lo | 2i20g ‘Simulator Serial Number
0.100 Spioad | 18001 Sl2a)im :::';?tgferent 2’5 It? j ?
0.200 DEITDS 1551 04 %I"J_’HI"{ re .D I :i(_
0.400 eqgng IS 10S Clio]y- : ‘Rdu‘ﬁ_:)
; S 10S ol 0.08 SDhRF Y
0.080 DGS | N/A iI5U15080A2) 75 (9 020 | SDIogSs
\El Post Calibration Stability Checks
Simulator Serial Number | Lot Number | Expiration Attachments . : :
0.05 DRIVIS |201u03D | 3% lig Form 41 B Optical Bench Cal
0.08 SO3F Y (201} L sy \@ Pre-Stability Tests Post-Stability Tests
0.20 < Dlo A< [201L04C q ‘ s | g O Flow Calibration QO Other
| 0.08DGS | N/A AGGu2L DY andty |
Notes: Qpheal ko o C o0 g on (Adma&'m:.])r \E Instrument Complies with Chapter 11D-8, FAC
Du&ﬂmed n) bnm values Clowe tp Aopunad . @ || g Instrument Does Not Comply with Chapter 11D-8, FAC
B Return to/Place into Evidentiary Use
: 4 1.8 Remain Out of Evidentiary Use -
_\?/ / L{({ [2 [ [T B conductan Agencv Inspechon Before Ev:dentlary Use

2 f9-H'7

ality Control Review Date

Revised November 2012
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